Name: Roll No.
THE PREP SCHOOL
ADMISSION to GRADE: 4 ENGLISH Max. Marks: 20
Checked by | Srv # Sign: Rechecked by | Srv # Sign: Marks:
Q.1 (A) Encircle the Correct Spellings. (0.5x2)
u writen /  wrritten /  wrriten / written
L begger /  beggar / begar / beger
(B) Provide Meanings either in English or in Urdu. (0.5x4)
m smart = crack
L top = total
(C) Complete the Columns. (0.5x 6)

Word Opposite Present Past | Past Participle
late shut
living ridden
Q.2 Complete each Sentence by Choosing the Correct Word. (1.0x5)
=  You some very good ideas. (has /do / have)
= My friend thanked me the nice gift. (over / for / to)
= The wolf at the top of the hill.  (stand / stood / standing)
u Quaid-e-Azam is most loved personality. (a /an /the)
L that lady work here? (Does /Have / Do)
Q.3 Identify the Part of Speech of the Underlined Word. (1.0x3)
- Flowers moved in the wind.

L The path is short but dark.
L He is a naughty boy.

Q.4 Do as Directed.

- The passengers stopped the train.

(1.0x3)

(Change into Negative)

L wooden / we / the / green. / painted / fence

(Arrange into a Sentence)

n A cloud of smoke came out of the volcano.

(Change into Plural)

[ Sentence Construction ]

Q.5 Make Meaningful Sentences of the given Words. (1.0x3)
L quietly:
L example:

L point at:




Answer Key ET 48 to Grade: 4

1. (A) Correct Spelling
(B) Meanings
© Opposites

Forms of verbs

2. Complete Sentences

L

b

ENGLISH
written a beggar
intelligent, well-dressed ]
cover, highest point ,Q{;i:__,f uﬁ’ 3
break, split byl « €2
whole, sum {J}’Lf};' ‘1.)’;
early, timely a dead, non-living
shut, shut, shut A ride, rode, ridden

a have
a for

a stood
a the

a Does

Identify the Part of Speech

4 houn 4. conjunction a adjective

Do as Directed.

4a The passengers did not stop the train.

a We painted the wooden fence green.

4a. The clouds of smoke came out of the volcanoes.

Sentence Construction

a quietly a example 4a point at
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Checked by | Srv # Sign: Rechecked by | Srv # Sign: Marks:
1. Fill in the blanks. (1.0 x 4)
(i) 8000 + 400 + 50 is the expanded form of the number
(i) 120 minutes = hour(s).
(i) 15x2=
(iv) % - % three- sixths (Insert: < or > )
2.  Solve the following. (2.0 x 2)

() 23m 36cm + 17m 29cm 4 (i) 378 x 26

Do as directed. (2.0x2)
(i) Divide 712 by 8 . (ii) Difference of 307 litres and 189 litres

»

v

There are 9 rows of seats in a hall. If each row has 125 seats, find the total
number of seats in the hall? (Show complete working) (4.0)

There are 9 368 people in Town A and 4 758 people in Town B. How many
people are there in both the towns? (Show complete working) (4.0)




THE PREP SCHOOL

Answer key: Admission to Grade 4 Mathematics (2025-26)
1. (i) 8450 (i) 2 (iii) 30 (iv) <
2. () (ii) @@

2 3m 36cm 3 7 8
+1 7m 29 cm X GTLG'
4 0m 65 cm 22 6 8
+7 56 0
9 8 2 8
3. () 8 9 (ii) @@
8'712 3 0 7 litres
-6 4 -1 8 9 litres
7 2 1 1 8 litres
-7 2
0 0
4. Number of rows of seats in a hall= 9 C?C;) 5
Number of seats in each row = 125 g 5
Total number of seats in the hall = 125 x 9
11 2 5§
= 1125 —_—
5. People in town A= 9 368 93 6 8
People in town B = 4 758
+4 7 5 8
People in both the towns= 9 368 + 4 758
1412 o6

= 14126
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